
Variables: Algebraic Expressions V (E-4)
ADDITION AND SUBTRACTION WITH BRACKETS

Name:

Time: Score: /

41)

(7y − 9− 6x) + (4y + (−7y)) + 3 =

42)

0− 20− (−10) + (5y + (−10y)) + 2 =

43)

(0y + (−8y))− 0x + 3 + (10x + 0) =

44)

(6y − 5)− (1x− 13)− 7 + (−9y) =

45)

0x + 8 + (8y − (−6)− 9) + 0x =

46)

(6x + (−2)− 4y + 6) + 3x− 1 =

47)

6y + (−9) + (5 + (−6))− 10 + 7 =

48)

(4− 2− (−1)) + (7x + (−8)) + (−6x) =

Mathematics: Variables - Level 6 - Expressions - Set 4 7 © workulum.com

https://www.workulum.com

